Case 19:  Pivot International

Assignment Questions

1. What are the key elements of Pivot’s business model? How has the evolution of the company’s ownership influenced the development of the company’s strategy and its business model? What is Pivot International’s strategy for competing as a component supplier in the fitness equipment industry?

2. What are the driving forces in the fitness equipment industry? What are the driving forces in the security device industry?

3. What are the key success factors for a component supplier in the fitness equipment industry? How do these compare to those of a component supplier in the security device industry?

4. Evaluate Pivot’s financial performance. How does it compare to industry averages?

5. What does a SWOT analysis of Pivot reveal? Does Pivot have a competitive advantage? If so, what is the source of its competitive advantage and is the advantage sustainable?

6. What challenges confront Kirkland Douglass in his role as Pivot’s chief executive?

7. Is Pivot making the right move in targeting security device and systems manufacturers (SDSM)? Are its core competencies applicable to this market? What specific challenges might Pivot face in breaking into this market?

8. What recommendations would you make to Douglass? How should Pivot proceed, given the company’s growth objective? What specific tactics should Pivot consider in entering the SDSM market?
